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Exercise 5A

Q1

Answer :

(i) The shaded portion is 3 parts of the whole figure.
.3

T

(ii) The shaded portion is 1 parts of the whole figure.
L1

Soq
(i) The shaded portion is 2 parts of the whole figure.
.2

S5

(iv) The shaded portion is 3 parts of the whole figure.
.3

(v)The shaded portion is 4 parts of the whole figure.
.4

"3
(vi) The shaded portion is 3 parts of the whole figure.
3

g

Q3
Answer :

The given rectangle is not divided into four equal parts.

Thus, the shaded region is not equal to % of the whole.
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Answer :

.3 4 s 2 f 3 1
U] 35 (i = . (i) = ?(IV) T v 3
(vi) g (vii) g (viil) 75
Q5
Answer :

Numerator Denominator

(i) 4 9
(i) 6 11
(iii) 8 15
(iv) 12 17
(V)5 1
Q6
Answer:

. 3 5 s T f 8
g (i3 (i) == v) =
Q7
Answer :

(i) two-thirds
(ii) four—ninths
(iii) two—fifths
(iv) seven—tenths
(v) one—thirds
(vi) three—fourths
(vii) three—eighths
(viil) nine—fourteenths
(ix) five—elevenths
(%) six—fifteenths
Q8
Answer :

We know: 1 hour = 60 minutes

~ The required fraction = 5—2; = %
Q9
Answer :

There are total 9 natural numbers from 2 to 10. They are 2, 3, 4, 5,6, 7, 8, 9, 10.
Out of these natural numbers, 2, 3, 5, 7 are the prime numbers.
= The required fraction = 3.

Q10
Answer:

(i) 2 of 15 pens =

(F20)
4
(i) 3 of 27 balls = (% X i) — 18 balls

(iify 2 of 36 balloons = (? X ﬁ) — 24 halloons
Q11

Answer:

(i)%oﬁs cups = x i;) 12 cups

-
I
(if) 3 of 28 rackets = (

(iiiy 3 of 32 books

=
X [«

b

aL s

S—_—

i

i

g

73
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Answer :

Neelam gives % of 25 pencils to Meena.

(é x E;) = 20 Pencils

Thus, Meena gets 20 pencils.

~» Number of pencils left with Neelam = 25 — 20 = 5 pencils
Thus, 5 pencils are left with Neelam_

Q13

Answer :

Draw a 0 to 1 on a number line. Label point 1 as A and mark the starting point as 0.

(i) Divide the number line from O to 1 into 8 equal parts and take out 3 parts from it to reach point P.

A

=10

-

A
1

o] P A
0 4/7 1

-

A
1

(v) Divide the number line from O to 1 into 4 equal parts and take out 1 part from it to reach point P.
0O P A
-+ttt

0 1/4 1
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Fraction
Exercise 5B

A fraction whose numerator is greater than or equal to its denominator is called an improper fraction.
3 9 8 27 19 26 . .
Hence, 5, 7, §» 5, 35 and 55 are improper fractions.

Q3

Answer :

Clearly. 2, £, 2, 2, S-and 2 are improper fractions, each with 5 as the denominator.

Q4

Answer :

Cleary, 2, 2, & 2 1 1 are improper fractions, each with 13 as the numerator.

Q5
Answer :
We have:
es5  (BBx7)4s 4
Wé3 = —F— =7
a3 _ (oxs)13 5
mIz = —=— =%
a3 (Bx10)43 g
(”')GE = = %
) 5 (3x11)+5 28
M35 = 1 - 1
9 (10 % 14) +9 149
w105 = 4 - 1z
) 7 (2x18)47 g7
(Vl) 12ﬁ =T — = =
o8 (Bx13)4B8 142
(vn)SE = —_— ==
coera _ (B1x3)+2 55
(vii) 513 = = 3
Q6
Answer:

(i) On dividing 17 by 5, we get:

Quotient = 3
Remainder = 2

AT 2 _ g2
=g = 343 =33

(iiy On dividing 62 by 7, we get:
Quotient = 8
Remainder = 6

.62 6
"T_8+?_8

=1l=

(iiiy On dividing 101 by 8, we get:
Quotient = 12
Remainder = 5
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(iv) On dividing 95 by 13, we get:
Quotient = 7
Remainder = 4
- A _ 74
“ 1 T"'13 _713
(v) On dividing 81 by 11, we get:
Quotient = 7
Remainder = 4

LB 4 _ 74
T _T+11_T1

(vi) On dividing 87 by 16, we get:

Quotient =5

Remainder = 7

L B L 5L
i = 9tE = 9%

(vii) On dividing 103 by 12, we get:
Quotient = 8
Remainder =7

N L gL
s = 8+ =85

(viii) On dividing 117 by 20, we get:
Quotient =5

Remainder =1
"7 - .7 -7

Q7

Answer :

An improper fraction is greater than 1. Hence, it is always greater than a proper fraction, which is less
than 1.

ms[<]1
m3<]1
mi[>1]2
(v § =1
v) So1g C=11
vy £ [=]1

Q8

Answer :

(i) Draw a number line. Mark 0 as the starting point and 1 as the ending point.
Then, divide 0 to 1 in four equal parts, where each part is equal to 1/4.
Show the consecutive parts as 1/4, 1/2, 3/4 and at 1 show 4/4 = 1.

0 1/4 2/4 3/4 1=4/4

(iiy Draw 0 to 1 on a number line. Divide the segment into 8 equal parts, each part corresponds to 1/8.
Show the consecutive parts as 1/8, 2/8, 3/8, 4/8, 5/8, 6/8, 7/8 and &/8. Highlight the required ones only.

0 1/8 2/8 3/8 5/8 T/8 1=8/8

(iiiy Draw 0 to 2 on a number line. Divide the segment between 0 and 1 into 5 equal parts, where each
part is equal to 1/5.
Show 2/5, 3/5, 4/5 and 8/5 3 parts away from 1 towards 2. (1 <8/5 < 2)
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Fraction
Exercise 5C

Q1
Answer :
0] 2 _ 2x3 2x3 _ 2x4 _ 2x5 __ 2x0
3 Ix2 3x3 Ix4 3Ix5 3x6
22 _ 4 _ 8 _ 8 _ 1w _ 12
3 6 9 — 12 — 15 T 18
] ] 2 4 6 8 10 12
Hence, the five fractions equivalent to za€ -, 5 30 E and =
(”) 4 _ 4x2 4x3 _  4xd4 _ 4xb __ 4x6
5 7 Bx2 —  b5x3  5x4  Gx5 ~  5xB
L4 _ 8 _ 12 _ 16 _ 20 _ 2
B T R | 20 — 25 T 30
] ] 4 8 12 16 20 24
Hence, the five fractions equivalent to A€ 0, 15 o0 o and -
(iii) 5 __5x2 _ 5x3 _  bx4  5x5 _ 5x6
] Bx2 Bx3 Bxd 8x5 Bx6
T ([ R N S |
8 T 16 T 24 32 T 40 T 48
] ] 5 0 15 20 325 30
Hence, the five fractions equivalent to 4% 30 m0 o and R
(i\-‘) o _ Tx2 T3 _ Tx4 _ Tx5 _  TxB
10 10x2 103 10x4 10x5 106
Lo M o2 2w 3 4
1 T W~ 30 40 ~ 50 60
’ ] 7 14 21 28 35 42
Hence, the five fractions equwalenttoﬁare % 3 W and -
(v) 3 _3x2 _ 3x3 _  3x4  3xb _ 3x6
T Tx2 Tx3 Txd Tx5 Tx6
L3 _ 68 _ 98 _ 12 L_ 1
T 14 T 20 T 28 T 3 42
; - 3 ] 9 12 15 18
Hence, the five fractions equivalent to Ta 7y 370 o and =
(Vi) 6 _ G2 _ fx3 _ Gxd _ Bx5 _ fixf
11 11x2 11x3 11x4 11x5 11x6
L8 12 18 o2 30 36
11 2 T 3 T 4 85 6O
’ ] 6 12 18 24 30 36
Hence, the five fractions equwalenttoﬁare S 5 1 o and -
(Vii) T _ Tx2 _ T3 _ Txd Txh _ T
9 Gx2 9x3 Ox4 Gx5 Ix6
LI o:m 28 35 42
"9 18 27 36 45 54
: : 7 14 21 28 35 42
Hence, the five fractions equivalent to s T 5% & d -
(viii) = 5x2 _  Gxd _ Sx4 _ S5xb _ Gx8
12 122~ 12x3 ~ 12x4 ~ 12x5 12x6
PR N |1 i R | ]
T12 T M T 36 48 60 T2
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0?2

Answer:

The pairs of equivalent fractions are as follows:

N5 20 2 _ 5x4
() 5 and 3 (ﬁ = m)
o 3 15 15 3x5
(i) § and 3 (a = axs)
i 2 14 14 2xT
&‘33 and & (E = m)
Answer :

. 3 _ E

(et = 2

Clearly, 30 =5 X 6
So, we multiply the numerator by 6.

.3 _ 3x6 _ 18
5 ~  5x6 30
Hence, the required fraction is %.
. 3 _ 2
(i) Let ¢ = -

Clearly, 24 =3 x 8
So, we multiply the denominator by 8.

L3 3x8_ 02

S T Bk W™

Hence, the required fraction is 4—23_
Q4

Answer:

. 5 _ 0O

etz = &

Clearly, 54 =9 x 6
So, we multiply the numerator by 6.
L8 _ 5x6 30

9 ox6 54
Hence, the required fraction is 3—53_
- 5 _ 3
(i) Let 5 = o
Clearly, 35 =5 x 7
So, we multiply the denominator by 7.

L5 BT 3

T9 T T w

Hence, the required fraction is %_
Q5

Answer:

. 6 _ O

(et = 2

Clearly, 77 =11 x 7
S0, we multiply the numerator by 7.

6 6x7 _ 42

TWOT kT W
Hence, the required fraction is %_
. 6 _ 60
(i) Let & =

Clearly, 80 =6 x 10
So, we multiply the denominator by 10.

.6 _ 6x10 60
Y11 T 1ix10 T 110
Hence, the required fraction is 2%
Q6
Answer:
M _ 4
Let 3 = 4

Clearly, 4=24 -6
So, we divide the denominator by 6.
.24 24:8 _ 4

T3 T 36§
Hence, the required fraction is %.
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Answer :

. 3% _ 9
Letg = 2

Clearly, 9=36 - 4
So, we divide the denominator by 4.

.36 _ 364 _ 9

T 4854 12

Hence, the required fraction is 1—92
- 3 _ O

(i) Let 5 = 1

Clearly, 4 = 48 <+ 12
So, we divide the numerator by 12.

.3 _ 36312 3
B R ES T

Hence, the required fraction is %_
Q8

Answer:

. 56 _ 4

MLletzg = 2

Clearly, 4 = 56 < 14
So, we divide the denominator by 14.

.56 _ 5614 _ 4

B T TEST

Hence, the required fraction is %.
. 56 _ O

(i) Let 22 = 2

Clearly, 10=70 +7

So, we divide the numerator by 7.
.56 _ 56x7T _ 8

T T0x%7 0 .

Hence, the required fraction is .

Q9

Answer :

(i) Here, numerator = 9 and denominator = 15
Factorsof 9 are 1,3 and 9.

Factors of 15 are 1, 3, 5 and 15.

Common factors of 9 and 15 are 1 and 3.

H.C.F. of 9 and 15is 3.
.0 93 _ 3
B TR T

Hence, the simplest form of 1—95 is 2

E.

(if) Here, numerator = 48 and denominator = 60

Factors of 48 are 1, 2, 3, 4, 6, 8, 12. 16, 24 and 48.
Factors of 60 are 1,2, 3, 4, 5,6, 10, 12, 15, 20, 30 and 60.

Common factors of 48 and 60 are 1, 2, 3, 4, 6 and 12.

H.C.F. of 48 and 60 is 12.
LA 4mi12 4

Te0 T 60:12 5
4

Hence, the simplest form of % is T

Q10
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Answer :

(i) Here, numerator = 8 and denominator = 11
Factors of 8 are 1, 2, 4 and 8.
Factors of 11 are 1 and 11.
Common factor of 8 and 11 is 1.
Thus, HC.F. of 8and 11is 1.
Hence, 1;81 is the simplest form.

(i) Here, numerator = 9 and denominator = 14
Factors of 9are 1, 3and 9.
Factors of 14 are 1, 2, 7 and 14.
Common factor of 9 and 14 is 1.
Thus, HC.F. of 9 and 14 is 1.
Hence, 1—1 is the simplest form.

(iif) Here, numerator = 25 and denominator = 36
Factors of 25 are 1, 5 and 25.
Factorsof 36 are 1,2, 3, 4,6, 9, 12, 18 and 36.
Common factor of 25 and 36 is 1.
Thus, HC.F. of 25 and 36 is 1.
Hence, % is the simplest form.

Q11

Answer:

(i) 28 (% _ % _ %)

(i) 21 (% — % _ %)

(iii) 32 (% — % _ %)

(iv) 12 (%=$—ig=1_92)
ws (% - %% - 3)
(vi) 9 % _ % _ %)
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Exercise 5D

Q1

Answer :

Like fractions:

Fractions having the same denominator are called like fractions.
.3 5 T8 10

Examples. TR TR T T

Unlike fractions:

Fractions having different denominators are called unlike fractions.

Examples: %, 208 42

37

REETIEEST]

Q2

Answer:

The given fractions are 2, -=, = and .
55,10,15,30

2[1.236
3[1,1.33

BNIRER!

L.C.M. of 5,10, 15and 30 = (5 X 2 x 3) =30

So0. we convert the given fractions into equivalent fractions with 30 as the denominator.

(But, one of the fractions already has 30 as its denominator. So, there is no need to convert it into an
equivalent fraction.)
Thus, we have:

3 _ 3x6 _ 18, 7 _ 7Tx3 _ 21 . 8 _ 8Bx2 _ 16

5 ~ 5x6  30° 10  10x3 30 ° 15  16xz 30
o . 18 21 16 i1

Hence, the required like fractions are 55, 5, 37 and 4.

Q4
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Answer :

Between two fractions with the same denominator, the one with the greater numerator is the greater of
the two.

(=
(ii) =
(i) <
(iv) =
V)=
(vi) <

Q5

Answer :

Between two fractions with the same numerator, the one with the smaller denominator is the greater of
the two.

Answer:

4 5

5 7

By cross multiplying:
5x5=25and4 x7=28
Clearly, 28 = 25

.4 5
..5}7

Q7

Answer :

3 5

8 6

By cross multiplying:
3x6=18and5 x 8=40
Clearly, 18 < 40

.3 - 5
. E - 5
Q8
Answer :
. 8
17

By cross multiplying:
7Tx7=49and 11 x 6=66
Clearly, 49 < 66

7.6

..—1{. H

Q9
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Answer :
L s
T

By cross multiplying:
5x11=55and9 X 6=54
Clearly, 55 > 54

5 0. 2
T
Q10
Answer:
Iz s
7

By cross multiplying:
2x9=18and4 x 3=12
Clearly, 18 > 12

.2 4

-3 73

Q11

Answer :

]

131

By cross multiplying:

6 x4=24and13 x 3 =39
Clearly, 24 < 39

.6 - 3
‘1S 1

Q12
Answer :
L3

13' 1

By cross multiplying:
3x6=18and4 x5=20
Clearly, 18 < 20

.3 _ 5

-3 <%

Q13

Answer :

5 T

B 112

By cross multiplying:
5x12=60and8 % 7 =56
Clearly, 60 > 56

5 - I
"8 T @
Q14
Answer :

LCM.of9and6=(3 x3 x2)=18

Now, we convert % and % into equivalent fractions having 18 as the denominator.
.4 4x2 8

. _ B 5 _ 5x3 _ 15

"9 T tx2 T 18 and 6 6xs 18
8 . 15

Cle4arly.1—85 < kT

‘3 % %

Q15

Answer :

LCM of5and10=(5 x 2)=10

Now, we convert % into an equivalent fraction having 10 as the denominator as the other fraction has

already 10 as its denominator.
.4 42 8

* 5 Bx2 10

Clearly, & > —

4 . 10
R
Q16
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Answer :

LCM of8and10=(2 x5 x 2 x2)=40
Now, we convert % and 19—0 into equivalent fractions having 40 as the denominator.

I _ Ix5 _ 35 a9 9 _ x4 _ 36
"8 T Bxb 40 10~ 10x4 40
35 36
CIeTarIy, EQ{ bl
T
Q17
Answer:

LCM. of12and15=(2 x 2 x 3 x 5) =60

Now, we convert % and % into equivalent fractions having 60 as the denominator.
11 _ ux5 _ 55 13 _ 13x4 _ 52
Y1z T 12k T 60 and 15 7 15x4 60

Cleary, 2 > 2

11 13 oo
‘B 7 .

Q18
Answer :

2.4.6.8
1,2.3.4
1,132
1.1.3.1
1111

o2 ro] 0

L2 5 and I

The given fractions are 5, 7, 3 =
LCM. of2 4 6and8=(2x2x2x3)=24
We convert each of the given fractions into an equivalent fraction with denominator 24.

Now, we have:

1 1x12 12,3 _ 3=6 _ 18

2~ 212 24 4 T dx6 M

5 _ 5x4 20,7 _ T3 _ 21

6 x4 24 8 T Bx3 M
12 18 20 21

Clarly, 57 <3 <% <53

Ll o3 5 1
"2(4{0(“8

Hence, the given fractions can be arranged in the ascending order as follows:

. . 2 5 7 11
The given fractions are 5, &, 7 and .

313,6.9.18
311236
201212
LLL1
LCM of3,6,9and18=(3 x2 x 3)=18
S0, we convert each of the fractions whose denominator is not equal to 18 into an equivalent fraction
with denominator 18.
Now, we have:

2 _ 2x6 _ 12, 5 _ 5x3 _ 15, 7 _ Tx2 _ 14
3~ 3x6 — 18 & ~  6Gx3 ~ 18! 9 ~  9x2 ~ 18
11 12 14 15
Cl??rly‘l_g <? <E <=
T 3 Y7 %%

Hence, the given fractions can be arranged in the ascending order as follows:
1 2 7 5

1’308

Q20
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Answer :

i ) 2 7 11 17
The given fractions are £, 17, 1z and .
LCM of510,15and30=(2 x5 x 3)=230

55.10,15.30
2[1236
31,133
Ll
So, we convert each of the fractions whose denominator is not equal to 30 into an equivalent fraction
with denominator 30.
Now, we have:

2 2x6 _ 12, 71 _ Ix3 _ 2, 1 _ 1ix2 _ 2

5 ~  Bx6 307 10 ~  10x3 ~ 307 15 ~  16x2 30
12 17 21 22

Clezarly,3—$ (3—‘? <§ <%

2 2 17 E

"B < 30 10 < 15

2 w1 u
57 307 10 15
Q21

Answer :

314 2

The given fractions are 5, <, T =
LCM.of4,8 16and32=(2x2x2x2x2)=32

2481632
2[248,16
2[12.4.8
2|24
2[L112
LLLI
So, we convert each of the fractions whose denominator is not equal to 32 into an equivalent fraction
with denominator 32.
Mow, we have:

3 3x8 24,7 _ Tx4 _ 28, 11 _ 1ix2 22

4 4x8 ~ 32 B T Bx4 327 16 ~  16x2 ~ 32
22 23 24 28

Cli?rly,3—%3<3—§ {§ (HE

CEOSE ST <s

Hence, the given fractions can be arranged in the ascending order as follows:
O
' 3?17 8

Q22

Answer:

i ) 3 5 11 17
The given fractions are §, 5, 17 and 2.

LCM.0f4, 8 12and24=(2 x 2 x 2 x 3) =24

48,1224

2,4,6,12

1.2.3,6

1.2,1,2

L1111

So, we convert each of the fractions whose denominator is not equal to 24 into an equivalent fraction
with denominator 24.

Thus, we have;

2
2]
3]
2|

3 _ 3x6 _ 18,5 _ 5x3 _ 15, 11 _ 1ix2 _ 22

I~ Ix6 ™' F B3 M’ T2 T Tz
22 18 . 17 15

Cleary, 2 > 2 > > 2

L1 3 .17 5

" 7% 7w T8

Hence, the given fractions can be arranged in the descending order as follows:
11 3 1T 5

1217 247 8

Q23
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Answer:

' . 7 5 1 17
The given fractions are g, 77, 1z and .

12
LCM.0of9, 12,18 and 36 =(3 x 3 x 2 x 2) =36

39,12,18,36
3[3.46.12
2[1424
2[1.2.1.2
IREREN
We convert each of the fractions whose denominator is not equal to 36 into an equivalent fraction with
denominator 36.
Thus, we have:

7 _ Tx4 _ 2.5 _ 5x3 _ 15, 11 _ 1ix2 _ 22

9 T ox4 T~ 367 12 T 12x3 367 18 ~  18x2 36
28 22 .17 15

Clearly,ﬁ >3% 3% - 3%

i 1 . 17 5

‘T 7B T % 12

Hence, the given fractions can be arranged in the descending order as follows:
I o1 17 5
9 '18'36° 12

Q24
Answer:

i ! 2 3 1 8
The given fractions are £, £, 17 and —=.

LCM. of3,510and15=(2 x 3 x 5) =30

313,5,10,15
5[1s,105
211,1,2,1
IRINEN
So, we convert each of the fractions into an equivalent fraction with denominator 30.
Thus, we have:

2 _ 2x10 20. 3 _ 3x6 _ 18

3~ 3xi0 — 30 5 —  5x6 ~  30?

T x3 21, 8 8x2 16

10 10x3 ~— 30 15 —  16x2 30
21 20 . 1 16

C|e?ar|y‘ 3—g = ? - 830 =3 30

W3 7870

Answer:

5 9 17 31
7o 10 3 and 3.
LCM. of 7,14, 21and 42=(2 x 3 x 7)=42

The given fractions are

7|7.14.21.42
2[1.236
31,133
BERER
We convert each one of the fractions whose denominator is not equal to 42 into an equivalent fraction
with denominator 42.
Thus, we have:

5 _ 5x6 _ 30, 9 _ 9x3 _ 2, 17T _ 1Tx2 _ 34

T T Tx6 42’ ™ T Taxs a2’ ™M Txz | 42
34 31 . 30 27

CI??rly,rg >4—g > >

- AT EI ) 3

T R v

Hence, the given fractions can be arranged in the descending order as follows:
17 31 5 9
22T M

Q26
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Answer:

1 1 1 1 1 1
12723 7' 9 ' a7 and 50 °

As the fractions have the same numerator, we can follow the rule for the comparison of such fractions.
This rule states that when two fractions have the same numerator, the fraction having the smaller
denominator is the greater one.

1 1 1 1 1 1

Clearly,? }E =1 }ﬁ}§}§

Hence, the given fractions can be arranged in the descending order as follows:

11 1 1 1 1
79 2 T W W

The given fractions are

Q27
Answer :

; ; 3 3 3 3 3 3
The given fractions are Ty 5 1m0 1 T
As the fractions have the same numerator, so we can follow the rule for the comparison of such
fractions.
This rule states that when two fractions have the same numerator, the fraction having the smaller

denominator is the greater one.

and

3

3 3 . 3 3 3
Clearly, 3 > > >3 > 537 %

Hence, the given fractions can be arranged in the descending order as follows:

Q28

Answer :

Lalita read 30 pages of a book having 100 pages.
Sarita read % of the same book.

%01100[33985:% x 100 = % = 40 pages

Hence, Sarita read more pages than Lalita as 40 is greater than 30.

Q29

Answer:

To know who exercised for a longer time, we have to compare % hour with % hour
On cross multiplying:

4x2=8and3 x3=9

Clearly, 8 <9

% hour < % hour

Hence, Rohit exercised for a longer time.

Q30
Answer :
) ! _20 _ 20:5 _ 4
Fraction of students who passed in VIA= 52 = £ = ¢
) : _24 _ 2438 _ 4
Fraction of students who passed in VIB= 55 = i = 5
In both the sections, the fraction of students who passed is the same, so both the sections have the

same result.
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Fraction Exercise 5E

Q1

Answer :

The given fractions are like fractions.
We know:
Sum of like fractions = Sum_of the numerators

C ommon d enominator
Thus, we have:

5 1 (5+1) s 3
s ts = -

B £, T4
Q2

Answer :

The given fractions are like fractions.
We know:
Sum of like fractions = Sum _of the numeratos

Common d enominator
Thus, we have:

4 g (a8 o 4y
st3 =5 T 31713
Q3

Answer:

The given fractions are like fractions.
We Know:

: : _ Sum_of the numerators
Sum of like fractions = Common d enominator
Thus, we have:

3 4 8 14 (B414) g9
I3 +25 =5+ 5 = —— =%

II
.
e

Read More:
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Q4

Answer:

LCM. of9and6=(2 x3 x3)=18

9.6
3,2
1,2
L1

MNow, we have:

[

z _ 2x2 _ 4.5 _ 5x3 _ 15
%  Ox2  18' B8  6x3 18
2 5 4 15 {4+ 15) 19 1
ste=wmtws =" =8=1s
Q5
Answer:
LCM of12Zand16=(2 x 2 x2 x 2 x 3)=48
2]12,16
268
2[34
2[32
I
L,
Now, we have:
T _ Tx4 _ 28, 9 _ 9x3 _ 27
12 - 12x4  48°' 18  16=3 48
7 9 28 27 (28 + 27) 55 T
Tt "8 tTs~ " —“=-1%
Q6
Answer:
LCM. of15and20=(3 x5 x 2 x 2)=60
5]15.20
i
2[14
212
1,1
. 4 17 (16 + 51)
St = 60
{[60 + 15 = 4,4 x 4 = 16] and [60 + 20 = 3, 17 x 3 = 51|}
— 8 _ 37
60 60
Q7
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Answer:

We have:

246
223

3|13

5
G
-4+ 2 L.C.M.uf4and6:(2x2x3):12

{24 =4 = 6,6 x 11 — 66] and [24 + 6 — 4, 4 x 35 — 140]}
Mln!
103

_ — 3 _ g7
- - _812

‘2;(1? 12

=5 4 u L.C.M.uf8m12=(2x2x2x3)=24

{24 + 8 =3,3 x 25 = 75| and [24 + 12 = 2,2 x 17 = 34}
— 109 _ 413
24 24
Q9

Answer:

We have:

5|05

223
3(13

HI

T 8

=4+ 5 L.C.M.ufl(}and15=(2x3x5)=30
(81 4 106)

- 30

{30 +10 = 3,3 x 27 = 81] and [30 + 15 = 2,2 x 53 = 106]}
187

— — L
— 30 _630

Q10
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Answer :
We have:
336
2[12
L1
2 5
32 +12 +2
- L+ 35 +2 L.C.M.uf3and6=(2x3)=6
_ (22411412)

Li]
{6+3=22x11=22,[6+6=1,1x11=11]and[6+ 1 =6,6 x 2 = 12]}

I T R
=% 2"
Q11
Answer:
We have:
5 [1520
3|34
214
21,2
1.1
4 3
3+1E +lﬁ
-3+ 2+ 3 L.C.M.uflﬁandQO:(2x2x3x5)=
60
(180 4 76 4 69)
= a0
{60 =+ 1 = 60,60 x 3 = 180], (60 + 15 = 4,4 x 19 = 76] and [60 = 20 =3, 3 x 23
_ 2 & _gs
- 5, I T T
Q12
Answer :
We have:
3346
i142
2]1.2.1
111
32 +43 +63
-3 +48+ 5 L.C.M.uf3,4and6=(2x2x3)=12
(40 + 51 4 74)

12
{1253 —4,4x10—140),[12 + 4 —3,3 x 17 — 51] and [12 = 6 —2, 2 x 37 —
_ ¥ s = 133

)Zl 4

Q13
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Answer:

We have:
3[3.69.18
2]1236
31133
1111

2 1 2 5
3+3E +4§ +2E

+2+ 3+ 5 L.C.M.of3,6and9=(2x3x3)

(12 + 57 + 76 4 41)
18
{18 +3=6,6x2=12,[18 -6 =3,3 x 19 = 57|,
[18 =9 =2,2 x 38 = 76| and [18 + 18 = 1,1 x 41= 41]}
a6 31
= = = =10
Ay 3

i

Q14

Answer:

We have:

3[3.46,12

21,424

2)1212

IIREE

22 +11 +22 +3%

7 5 17 43

=3 +3:+35 + 5 L.C.M. of 3,4, 6 and 12 =

(2x2x3)=12

(28415434 43)
- 12

{12 :3=4,4x7=28,[12+4=23,3x5 =15,

12 +6=22x17 = 34 and [12 + 12 = 1,1 x 43 = 43] }
}gﬁ]ﬂ
M,

= 10

Loy L.C.M. of 4, 8, and 16 =

(32 + 12 + 26 + 55)
16

{16 + 1 =16,16 x 2 = 32, [16 + 4 = 4,4 x 3 = 12],
[16 + 8 =2,2 x 13 — 26] and [16 + 16 = 1,1 x 55— 55|}

5 _ 713
% 16

Q1lé
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Answer:

Total cost of both articles = Cost of pencil + Cost of eraser
Thus, we hawve:

2 7 7 27 (34 4 27)
Rs32 + Rs25 = § + 5 =
(L.C.M. of 5 and 10 = (5 x 2) = 10) = % = Rsb;

Hence, the total cost of both the articles is Rs 6 %_
Q17

Answer :

Total cloth purchased by Sohini = Cloth for kurta + Cloth for pyjamas
Thus, we have:

1 2 9

((27;15)) m

{6+2=33x0—27and[623=22x8— 16]} — (%)m= 7im

.. Total length of cloth purchased = T% m

wlo

)m (L.C.M. 0f2a.11d3=(2x3)=6)=

Q18

Answer:

Distance from Kishan's house to school = Distance covered by him by rickshaw + Distance covered by
him on foot
Thus, we have:

(4% + 1%)1@
B (% N %)km _ ((19;6]) km

L.C.M.of 2 and 4 — (2 ><2) = 4): (£) m = 64km

e

2]24
2012
1.1
Hence, the distance from Kishan's house to school is 6% km.

Q19

Answer:

Weight of the cylinder filled with gas = Weight of the empty cylinder + Weight of the gas inside the
cylinder
Thus, we have:

(164 + 142) ke
()

(252 + 220) 472 7
(T) ke . (?) kg — 31L ke

Hence, the weight of the cylinder filled with gas is 31 1—75 kg

(L.C.M. of 5and 3 = (3 x 5) = 15) =
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Exercise 5F
Q1

Answer :

Difference of like fractions = Difference of numerator — Common denominator

5 o1 A

] C ] - Z -z
Q2
Answer :

Difference of like fractions = Difference of numerator <+ Common denominator

.5 _ s 2
12 12 12 ),56 i}
Q3

Answer :

Difference of like fractions = Difference of numerator <+ Common denominator

T T 7 ki
Answer: (31— 18)
- T
]
5 _ 4 !
Li] L
3\6,9
2\2,3
3|1,3
| 1,1

LCM ofeand9=(3 x2x3)=18
Now, we have:

5 _ Ex3 _ 15, 4 _ 4wx2 _ 8
6 — 6x3 ~ 18 9 T 9x2 18
.5 _ 4 _ 15 _ 8 _ (58 7
6 9 18 18 1B 18
Q5
Answer :
1 _ 3
2 B

LCM ofZand8=(2x2x2)=8

Now, we have:
1 1xd

2 2

1
3
8

L1
"2

o
-]

1,1

LCM of8and12=(2 x2X 2x3)=24

Now, we have:
5 _ 5x3 16 . T Tx2 14

] Ex3 ' 12 1Zxz ™
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Answer:
7 8
25 ~ 1%

B o

9 15
| 9,15

w |
—

o

3|3,

5{1,5
‘1,1

L.C.M. ofgand15:(3x3x5) = 45

|
13

_ (s s _ cu
15 45 T 4 T T4

{45 + 9 = 5,5 x 25 — 125] and [45 + 15 = 3, 3 x 23 — 69|}

B 1 15
12 P21 I

3,3 x 20 = 87 and [24 =+ 12 = 2,2 x 20 = 58]}

{

[30 = 10 = 3,3 x 23 — 69] and [30 + 15 = 2, 2 x 22 — 44]}
12{:.
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Answer :
2 3

-2 _ 5 L.C.M.of3and4=(2x2x3)=12

(80 — 45)

- 12

{[12 + 3 = 4,4 x 20 = 80] and [12 + 4 = 3,3 x 15 = 45|}
35

= 12
i1

:2E

Q11

Answer :

2
T—-53
7 17

1 3
L.CM. of 1l and 3 = 3
(21 —17)

- 3
{3+1=33x7=21and[3 +23 =1,1x 17 = 17]}
1
==z =1
3

1
3
Q12

Answer :

3
10 - 63
10 _ 51

1 8
LCM. of 1 and 8 = 8
(80— 51)

B8
{B+1=288x10=280]and[8 + 8 =1,1 x 51 = 51]}

We have:

B 2,42
6 9 3
LCM. of3,6and 9 =(2 x 3 x 3) = 18

(158 +12)

18
18+6=3,3x5=15,[18+-9=2,2x4=28]and[18 +3=26,6 x 2 =12]}
(27 - 8)

18

—

— &8

()

g W
=t W
b
(-]

(]

_l—‘

\-uw Bl
—

[y
=
—

Q14
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Answer :

We have:
+

ool
e
gl=

2 |4, 8,12

2|2,4,6

e M
ks =
s o
[}

L.C.M. of 4, 8 and 12 = (2x2x2x3) = 24

(15 + 18 —14)
24
{24 +8=3,3x5=15,[24 +4=6,6 x3 =18 and 24 + 12 =2,2 x T =

o (s3-19)

Q15
Answer:

We have:

2 11 5
itE 3

3]1,15,9

3|1,5,3

5|1,5,1

|1,1,1

L.C.M. of 15 and 9 = (3x3 X5) = 45

(90433 -25)
- 45
{45 + 1 = 45,45 x 2 = 00],[45 + 15 = 3,3 x 11 = 33]and [45 =+ 9 =5,5 x 5 =
ORI |
45 45 45
Q16
Answer :
We have:
3 5 1
53 4% +31
23 53 19
=3 =t%

L.C.M. of 4,12 and 6 = (2x2x3) =12

(69 — 53 4 38)
= T 1z
{12 +4=3,3x23 =69],[12 +12 =1,1 x 53 =53]and [12 + 6 =2,2 x 10 =

107 - 53
=Q=5“_2=4%

12 1z T2
Q17
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Answer:

We have:
T 14
2455 —34
2 57 50
=1itw B

5 |1, 10, 15

2|1,2,3

3(1,1,3

‘1,1,1

L.C.M. of 10 and 15 = (2 % 5 x 3) =30

(604171 —118)
- —
{[30 + 1 =30,30 x 2 = 60], (30 = 10 =3,3 x 57 = 171] and [30 + 15 =2, 2 x 50

_ baus)  us g
- 30 — 3 T Y3

Q18
Answer:

We have:

LCM. of1,2 and 4 = (2x2) =4

_ (32-14-9)

= —0

4 +1=44x8=32],4+2=22x7=14]and[4 =-4=11x9 =9}
_ 2= 9 5

_ 9l
1 1T 41

Q19

Answer :

We have:
5 3 T
85 33 42l

53 27 31
=% s twm

2|6,8,12

2|3,4,6

3‘3,2,3

2‘1,2,1

1,1,1

L.C.M. of 6, 8 and 12 = (2 x2x2x3) = 24

_ (m12-s1+62)
- 24
{24 + 6 =4,4 x 53 = 212], (24 =+ 8 =3,3 x 27 = 81] and [24 + 12 =2,2 x 31 =
= fers_s1) — 193 _ gL
24 24 24

Q20
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Answer:

We have:

1 1 1
61 — 5% +31
37 26 10
T -5 T3

2|6,5,3

3 |3,5,3

5 |1,5,1

]

L.C.M. of 6,5 and 3 = (2x5 X3) =30

(185 — 156 4 100)
- 7 @
{30 + 6 =5,5 x 37 — 185, [30 = 5 —6, 6 x 26 — 156], and [30 + 3 — 10, 10 x 10
(285 156) g 43
B 30 B ’M]n - E
Q21
Answer :
We have:
1 2 7
3 i 2 7
=1itsts3s =
5|5,3, 15
3|1,3,3
‘1 1,1

L.C.M. of 1, 5, 3 and 15 = (5 X 3) =15

(45 418 +10 - 7)
- 15

{[15 +1 =15,15 x 3 = 45|, [15 + 5 =3,3 x 6 = 18],

[15+3=55x2=10/and[15 +15 = 1,1 x 7 = 7]}

=(?37}=,ﬂ1i"ia _2 _y

15 i 5

enles

Q22

Answer:

Let x be added fo 92 to get 19.

9% +x =19
Thus, we have :
x=19-92

L.C.M. of 1 and 3 is 3.
{3+-1=233x19=57and[3+3=1,1x 20 =29}

— B _ g1
= _93

Q23
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Answer :

Let x be added to 6 1—75 to get 8—;_
. 7 sl

. GE + X = 8 3
Therefore, we have :

7
x = 83 - 6%
1 o7
=3 - = L.CM. of5and 15 = (5 x 3) = 15
_(123 07)

15

{15 =5 =3,3 x 41 = 123] and [15 = 15 = 1, 1 x 97 = 97]}
=3 .1
15 15

Q24

Answer :

(5% +4§] . (3

wlen
+
]
I=
—

7)) (2ey)
2|6,9,3
3|3,g,3
3131
1,11

L.C.M of3,6,9 = (2 x 3 x 3) = 18
[105 + 74] — |64 + 60]
- &

{18 + 6 = 3,3 x 35 — 105/ and [18 = 9 = 2,2 x 37 = 74]}
{18 + 0 =22 x32 =64 and [18 = 3 = 6,6 x 10 = 60]}

_ [a79] — [124] _ 5 _ g1
- 8 = 18 T Y18

Q25

Answer :

Letus compare% and %
I xXxT=21and4 x5=20

Clearly, 21 > 20
-3 3

“1 77
Required difference:

— 3 _ 5

< = LCM ofdand7 = (2 x 2 x 7) = 28
2120
= 22

{28+4=77x3=2]and[28 =7 =4,4x5=20]}
1
=

Hence_% is preater than % by

. L
%5
Q26

Answer :

Amount of milk left with Mrs. Soni = Total amount of milk bought by her — Amount of milk consumed
. Amount of milk left with Mrs. Soni

i 3

= T3 - 5%

= 1?5 — % L.CM of2and 4 = (2 x 2) = 4
(30 - 23)

- 1

{4 +2=2,2x15=230and 4 + 4 =1,1 x 23 = 23]}

=%=1% litres

.". Milk left with Mrs. Soni = 1% litres

Q27
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Answer:

Actual duration of the film = Total duration of the show — Time spent on advertisements

— (%) hours = 1-- hours

Thus, the actual duration of the film was 1 1—72 hours.

Q28

Answer:

Money left with the rickshaw puller = Money earned by him in a day — Money spent by him on food

~ Rs (1374 — 563) L.C.M. of 2 and 4= (2 x 2) = 4
n(F )

{[4+2—22x275 —550]and [4 + 4 — 1,1 x 227 — 227]}
550 — 227 323 3
= Rs (#027) = Rs (#2) = Re 802

Hence, Rs 80% is left with the rickshaw puller.

Q29

Answer :

The length of the other piece = (Length of the wire — Length of one piece)
— 3 _ 5
- (2 1 8) m

:(__%)m L.C.M. of4and 8 = (2 x 2 x 2) = 8

4
=(2285)m {B+4=22x11—2Yand[8 +8 =1,1 x5 = 5}
=(%)m=2im

Hence, the other piece is 2% m long.
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Fraction
Exercise 5G

Answer :

Ix2
(© 5x2

Q2
Answer:

84
© 753

Q3

Answer:

(v) 2

Factors of 24 are 1, 2, 3, 4, 6, 8, 12, 24,

Factors of 36 are 1, 2, 3, 4, 6, 9, 12, 18, 36.
Common factors of 24 and 36 are 1, 2, 3, 4, 6, 12.
H.C.F. =12

Dividing both the numerator and the denominator by 12 :

24
36
2412
36 12
2

3

Q4
Answer:

(a) 15

Explanation:

(: - %)
We have :
20=4x5
So, we have to multiply the numerator by 5.

Sx=3x5=15

Q5

Answer :

(a)4

Explanation:
&)
60 x
Now, 3 = 45 =15
So, we have to divide the denominator by 15.
Sr=060+15=4

Q6
Answer :

© 3,

wlw

5 7
LR

(Fractions having the same denominator are called like fractions.)

Q7

Answer:

{d) none of these

In a proper fraction, the numerator is less than the denominator.

Q8

Answer :

pan T
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Answer:

3 3
byz > %
Between the fwo fractions with the same numerator, the one with the smaller denominator is the
greater.

Q10
Answer :

(24 (=]

(©

215,3,6,10

515,3,3,5

3

1,331

1,1,1,1

LCM. of5,3,6and10=(2 X 3 x 5)=30
Thus, we have:

3 _ 3x6 _ 18
5 ~ Sx6 30

2 _2x10 _ 20

3 3xi0 30

5 _5x5 _ 25

6  6x5 30

T o _dx3 _

0 10x3 30

.. The smallest fraction — % = %
Q11

Answer:

4

(b)s

Among the given fractions with the same numerator, the one with the smallest denominator is the
greatest.
Q12

Answer :

[i]
(@)
Among like fractions, the fraction with the smallest numerator is the smallest.
Q13

Answer :

(d)

sl

Explanation:
24,6,12,3

2

2,3,6,3

3

1,333

1,1,1,1

LCM.of4,6,12and3=(2 x2 x 3)=12
Thus, we have:

3 3x3 _ 9

T Ixs T 12
5  5x2 10
" 6x2 12
2 _ 2x4 __ B
3 T 3x4 12
7

12
Clearly, % is the smallest fraction.

Q14
Answer:

i B
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Answer :

()42

On dividing 34 by 7:
Quotient = 4
Remainder =6

34 6
T =4+3

Il
.
==

Q1lé

Answer :

(b)

L [

Explanation:

Addition of like fractions = Sum of the numerators / Commaon denominator
I R CE ) NP SR
B 8 B o X‘ T4
Q17

Answer :

(b) 3
Explanation:
s 1 6oy A

1
3 E - "8 F T

Q18

Answer:

(¢) 3
Explanation :
35 — 21
15 9
T T A
(15— 9)
=}*T

6 _ 3 _
sy = 1

bal =

Q19

Answer:

(@) 1%

Explanation:
3136,9

201,2,3

301,1,3

‘1,1,1

5 2 4
s T3 39

(L.C.M. of 3, 6and 9 = (2 x 3 x 3) = 18)
(15412 —8)
= T 1’

{1826=3 3x5=15,[18 23 =66 x2 =12 and[18 - 0 = 2,2 x 4 = 8]
_ 8 w1
18 18 18

Q20 Answer:
(@33

Explanation:

1 33 10 33
Letus compare 35 and 5 or — and 5 .
10 = 10=100and 3 = 33=99
Clearly, 100 > 99
. 1 33
cxroood; >o
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